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| Semester B.Com. Examination, January
(SEP 2024-25)
COMMERCE

COM1.4 : Business Quantitative Analysi

Time : 3 Hours

Instructions : Answer should be written completely in English or
Kannada.

SECTION - A

Answer any seven out of 10 questions. Each question carries 2 marks.

(7)(2:1 4)

1. a) What is 200% of 30 ?
30 T 200% @ad% ?

b) Find the third proportional to 6 and 24.
6 32 24 3 Foede IRTIBIR, TBITS.

c) Solveforx;2x—4 =0
x@@tuﬁﬁaﬁo;zx—za =1

d) Solve, x2 —25 =0
WO, X2 — 25 =0

e) What is finite set ? Give example.
OB BT Q0T ? LVTTOTE JeE.

f) What is equal set ? Give example.
RIT BeF Q0TTERI 9 SVTBTT Ve

g) Compute compound interest on ¥ 5,000 at 5% rate of interest p.a. for
3 years.
3 SRS o0, BRRF 5% w%ddd@md@. 5,000 ¢ Aoodmesss w@é&b@
SR,
3

h) Find simple interest on X 3,000 for 4 months at 3% p.a.

BT 8% WRSISAA Soriebrts wes, In. 3,000 TS R WRHRY RS,
P.T.O.
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| i) F!nqme \)a'.l.u_e of 14 P4,

RPY[R BoRERD : 1 P,

j) Find the value of "'C,.
SRR 30@REWD 11C,,

SECTION - B

Answer any three out of five questions. Each question carries 8 marks.  (3x8=24)

2

In a college 30% of the students are Hindus, 20% are Muslims, 25% are Jains
and rest are Christians. If there are 10 Jain students in the class, find the number
of other students.

20T @deﬁdq @@@Fﬁ@@m 30% &omnngb, 20% S08E30D, 25% m';dda, VPTIRTD
_@%ﬁod:@tdo. 2oneod 10 %S QTRPFNVTIT, 983 QR PF N ﬁo@%@dﬁ% FOTEIETIOND.

Solve, x*— 5x + 6 = 0 applying Formula method.
ARE, éaqsaédabq WHLBROT tRBOR, X2— 5X + 6 = 0.

In a class of 120 students, each student has to take accountancy or commerce. If -
60 students take commerce and 40 take both commerce and accountancy. How
many take accountancy ? Verify your answer by Venn diagram.

120 a@@rﬁ@dm Clolgtiovel st ST, HF O30 c?éﬁemﬁd (ETAAD mﬁ%m#@w@t 03
DRELIEB. 60 ITHFND mséa%m:o;dQ ol BREIZYT @022 40 DTHFND
DOEITOR, 0B JgTR, @dcéairac& 5030, BRBTYT. FFIORFR), B3, BRRTRT
a’o@%odmi FOTOGHRCAD. ?bd.g/emgdﬁﬁgt W° O3RN0 WHR TOdeDR.

Mr. Ram deposits ¥ 5,000 at the end of every year for 6 years at 6% interest.
Determine Ram’s money value at the end of 6 years.

B8 BT 3300 6% WRHIRE 6 IR O ¢ Tomr* . 5,000 Seesed
RBRBTYT. 6 TRFT PTG TR [T BT DIV, DEFFCR.

Find the number of words with or without meaning that can be formed with the
letters of the word ‘SWIMMING® ?

‘SWIMMING’ £33 @%@’Q’u\dﬁ@&od BB AT 9T VLT TN zdoa%odam%
F0BIGROWD.



L £ SE - 080

SECTION -C
Answer any three out of five questions. Each question carries 14 marks. (3x14=42)

7. a) Divide % 3,900 into three parts in the ratio of % .S

S
93,000 e ;L : 1 exbmnsig Rt et Soridk,

b) 5 Carpenters can earn X 3,600 in 6 days working at 9 hours a day. How
much will 8 carpenters can earn in 12 days working 6 hours a day.

5 5o op3o R0 9 Rotiny DTG 3R @RENE 6 ORNYY Sr. 3,600 RomORIZT,
8 ToTF 0LIT MR 6 MotIng TNEE FOR RBREIRD 12 QRYE @d% ROTPORITYT 20T
FOTIEED.

8. Solve by the method of a) Elimination b) Substitution

3X+4y=4
5x+7y =4

a) ATIB0ED R &) b) a‘%@ﬁ@aﬂ@@dﬁd& WHRBROT) WIIBO :

3X+4y=4
5x+ 7y =4

9. a) IfU=1{1,2,3,4,5,6,7,8,9,10}
A ={3,4,5,6}, B={1,2,3,4}
Find (i) A’ (i) A—B
(i) B— A (iv) B’
U={1,2,3,4,58,7,8,9,10)

A= {3,4,5,6}, B={1,2,3,4}
BOWIEEOWD (i) A’ (i) A-B
(i) B — A (iv) B’

b) A={ab,c,e}, B={ab,xy}, C={a,c,x,p,r}
Find :i))AuUB i) AN B iy AU (B N C)

A ={ab,c,e}, B={ab,xy}, C={a.cxp,r}
FOTRORROWD i) AUB i)AnB i) Au(BnC)
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10. a) Find out the present value of 33,000 received at the end of the year, if the
discount rate is 9% p.a.

WRHTR) TSR 9% 93T, DR R[N 2 BOIRT Sr. 3,000 3 BRI
df@%d@t BOTBICBOAD.

b) Compound Interest on 34,000 at 10% p.a. is ¥1,856.40. Find the time.
dn. 4,000 ¢S 10% s WRECHE, Foodpeess W Sr.1,856.40 SNTT,
eﬁdé;aocbﬁaL BOTBIGEBOWD.

11, ay IF°C, = °C, Angd *C .
"Cg="C,,,"C,, &), BORODBOWO.

127

b) Find the number of permutations of the letters of the word INSTITUTION’.
How many of these begin with | ?

INSTITUTION’ s WTTNPOT IR, B, €7 aixaecéeaﬁeim BRBUBITD OTD
BOROEEBOWD. NS, @e&Q I eﬂﬁo’@od D) doa;imrb@ﬁ ?




